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aurpsmawlar WpéHaSlw  SIbL  Bleneosered
W(hamhiseT Qenmise GUEIULIL Flev BL &HNHHMEI
2 HauTdhG GFweOLTBH6T. eleflgTs  LOTBSH
O®TeiTen  BUI6VT S FH6N60T 61601h
GBIULIL6umLD.

a. Buedydsld b. miewiempiiey

c. allomdeagsaimnYd usemer

The process by which animals form species - specific
behaviours during a critical period early in life, which
are not easily modified is known as

a) Instinct b) Intelligence

c) Animalismv’ d) Imprinting

Ans:C (May be)

uetefluled weval 6ITLIGHI BTG AIHLOTET HMBM6D
FHBeIHMNT aUenTHs alfleuensd Gauiw GeuetBolLe
L BISHHID DINfHmD

a.  WeyLTed Sinfldbmse

b. Garssmi opsms

C. QLeorierd ofldems v

d. griman. 9psoms

The report which emphasises that four types of
learning skills should be developed in school
Education.

a. Yashpal Report b. Kothari Report

c. Delor’s Reportv’  d. Sargent Report
Ref: NR IAS ACADEMY'’s Paper I, Psychology
Pg.17

GwhHmsuiler auruier egliTallener G&FwIEOUITL g6
BRIaTBTE  DIENLPESHEVTLD

a. e agiafamery

b. alemmisr erdTalener

Cc. UysHzed erdlialene

d.  9owdBssH MaudhdHed ediTalemer

The child’s reflex of the mouth is called as

a. Rooting reflexv’ b. Moro reflex

c. Grasping reflex d. Stepping reflex
Qb SHelpufer HCrmGrGevmibaselt
gdaBenipd LILGL  aflens sU UL LW
B HaLILBSBSI

a. GxmOgeogTii’ b. &GymGomomis

c. Gamflwumes d. GaMBwmeLLIv
The chromosomes of an individual can be examined

eLp6ULD

with a chart called as
a. Gesellschaft
¢. Chorion

b. Chromomorph

d. Karyotypev’
Ul e fAfwr o BnICHTESH60

wBpw LI YBETET HL DTG (LPDBEDU

2 (houthd SIGHM ‘EBBLISHH QFULIED Blenevseln

GTGIIBENLDS SHIT.

a. Ouergdlesr S. yemd b, A.C. sytaiierdieast

C. oS NwnGBey d. S.L. u@gedendlv’

has developed a system of teacher

observation and evaluation which he terms as

‘Instructional Processes’.

a. Benjamin S. Bloom

c. Jean Piaget

Ans: D (May be)

NwmBauier FnBumItiLiy SHIPfigHe0 Hmer auenTFfuiled

GUHmBHeT GeueaflliLBG HHId CuUTH6rT B 6 6o

BHemeVHSH HENLD  6I6ITLIG):

a.  (PpMBWTET LIFGFWeOLT B LI(HeuLD

b. yevat Queés umeudY

C. AIFLFWOUTL(HESG (PHmSU! LIHeULD

d.  saigmLTsl UTTiumSS CsTewih FhHbE@

LI(H6ULD

According to piaget’s stage of cognitive development,

a child displays ‘object permanence’ in:

a. Formal Operational Stage

b. Sensory Motor Stagev’

c. Pre-Operational Stage

d. Concrete Operational Stage

Ref: NR IAS ACADEMY'’s

Psychology, Pg.22

emLOWl [BILDL| LDGWTL 6uSHlet euenT&dulled @GenmLmb

gBUTH GLHmSHeNar 2 L60 LBDIL o 6

GFweouTL (hH6IM60 Db HHBHETMD  HTEWILILIHG SH60

Gumen o@BiseTed SMWLBaIS

a. afleflgwy b @eansseaemo

C. SN d. @umies seeno

The sluggish nature of children in both physical and

mental activities due to the defects in the development

of Central Nervous System indicates:

a. Cretinismv’ b. Dwarfism

c. Albinism d. Gigantism

Ref: NR IAS ACADEMY'’s Paper I, Psychology

b. A.C. Ornstein
d. S.L. Presseyv’

Paper I,
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10.

11.

12.

13.

a.  UwWeTL®BSS60

Pg.14

@1 g fflwim b TeTaTHERSGH SIS BLIQUITET
Gl aleursld, GUpF GFwsd HLLw Gumeis
GUFFWeLTHHeMED FHUBSHHID QUITIDSH DIGH6i
ufliorend GeleflebsT Beaig

a. ampeder Seflenwo

b. Oumiuler euruleors SBBed

C. Gumly sgliuemLuleomer &BBEL

d. spmed @ &ws QFweLTRY

A teacher engages her learners in a number of group
activities such as group discussion, group projects
etc. The learning dimension this highlights is:

a. Joyful learning

b. Language - guided learning

c. Competition based learning

d. Learning as a social activityv’

Ans: D (May be)

GlPlemey  CUT(HL FnmIbEmHL 6T ChiTenmuITaGeaur
Sle0evgl  HTDBWLTEEUT BLHSH OBTeTEHLd
@ (LD El & 60 LD & 60 6V 6T 6oT
UM WIMISH BEVTLD.

a. [BILLD b. weniLmesTenL

C. QuT@BssUIUTGY  d. uslLBmev

The disposition to behave towards environmental
objects in a positive or negative way is defined as

a. Aptitude b. Attitude

c. Adjustmentv’ d.  Anxiety
SQ3R-e0 @yewimoug ‘R’ @mliniGeug:

a. Recite b. Review

c. Read d. Reflectv’
In SQ3R, second ‘R’ represents:

a. Recite b. Review

c. Read d. Reflectv

YeerpLiledt BLSHengll LTfleyseriled 6TemTenImigbeT OMBILD

FBBISHMET QHERISDOHH  TIHID  SHBeneor
6T 60TV LD

b. ueHaTUISHE

C. QaTGHsTUIse Y d. wHni e

In Bloom’s classes of behaviour, the skill in writing,

using an excellent organisation of ideas and

statements is

a. Application b. Analysis

c. Synthesisv’ d. Evaluation

‘MAN’ eretr QFmed ‘RFI” e1evtdh @pildbalLIBID eTenfled

‘BOY’ a3 Glgmeveney @IS

a. GIT b. GTTV
c. IGT d. TTI
If ‘MAN’ is coded as ‘RFI’, then ‘BOY” should be
coded as:
a. GIT b. GTTV
c. IGT d. TTI
ugd | -eow ugd ll-Ler QuUImBSHSHIS.
UG- uga-ll

a. B0 B  ©)6M6u0T

14.

15.

GET IT ON
Google Play

B PG Fmest o sl s BsmevF
Bamgement
b. syemeoumuyd @6ueID -2.(1PGY6VT  -6MEOLIT
@Fmement

C. unfiemey  Sflysar dl  -3. ysss Hiys s d
d. plewiamiley Gargmamer - 4. oil9 aueny GaFTHmend
H(Ha

o0 w»

N
R wN T
WNWN O
N AWwa

4
Part-1

a. Hand-eye
co-ordination

b. Fluctuation
of attention -

c. Optical llusion

d. Intelligence test

Part -Il

1. Block design test

2. Muller - lyer test
3. Book illusion
4. Mirror drawing

apparatus
a bc d
A 1 42 3
B 1 23 4
C. 4 32 1v
D. 4 13 2
Ref: NR IAS ACADEMY’s Psychology

Material Pg.66

erfidaeier Gobum” B LigBleneosered

g GUTpL &6  amEed  GQFweoUBSIBH
STOTLIHENET HWILBIUILD GLOHENHHEIMGT DT61 5 SH6eme0r
GBILLIGEBSI-

a. 2 BUSHHSHBHETENLD

b. ellLrwwupdgsaiamny

C. GWrFGUTL (BHSHSHINLD

d.  weoerniysseenio

In Erickson’s stages of development,

Indicates the child’s interest in seeing how things
work.

a. Generativity b. industryv’

c. Self-absorption d. Initiative

Ans: B (May be)

STl BIDLS QHTGHH U WwarbleuipdFFsamern
ST  CFwevseienmed gBUBLD LOTBBHIGE6T6T
Bouzsdhwsd Senall LWeLGL SHaluler LT
a. eewal Brr awieFuBerayTiY

b. earGsrdymi

C. ollsBwr GuGemisl LT

d.  umeddym

The machine which is used to record changes in the
autonomic nervous system brought by emotion
provoking stimuli is:

a. Electro Encephalo graphv’

b. Ergograph

c. Sphygmomanometer
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d. Polygraph
Bmean  Geudervevfleasr miewremleys GFmmHemenuisd
9 GITENL MRIGLD
a. OQagmevsmym Gamgenen BHID QFwm CFTsHemer
b. Qamed animbs CsngHener WLHBBID LLF BFTHme
C. Qagmed &mTiHE GCorgmer wLBDBIL QFwm
Gargmenv

d. Qswp Gamamer WHBBID ULF CFrmHemer
Adult Intelligent Scale of Weschler comprises of:
a. Non verbal and performance test
b. verbal and pictorial test
c. Verbal and performance testv’
d. performance and pictorial test
o 1bupenLwl BTFAL UeTefulen (pHed Herdhens
BalT Henee] FniThFHTe0 DIl
a. G@mebedwed &FMTHS [Hlenerey
b. (wepwren Wenerey
C. Bspe; QUIBSS BmearaY
d.  yeveigmiTe) FhHS Henee]
When you recall your first day in nursery school you
utilise the
a. Semantic memory b. Procedural memory
c. Episodic memoryv" d. Sensory memory
Ans: C (May be)

Qh SHENBLIDT SUIBENBHUWITET  GhLD60
LBEILD SBeUTwISeMs0 QUTHGH S STEDID (LPILDEMLD
BmFays BT LTLTGLD.
a. welsCnuw b. o emiugliumuiey
C. oeygm d. pLgmzuilued v’
is a holistic theory which looks
at the individual in context and in a naturalistic setting.
a. Humanism b. Psycho-analytic
c. cognitivism d. Ethologyv’
(b BUITeledbbsl WBEBTH [BIULITET HITEHIL D60l
Qumud umTsLd QLG LD.
a.  Subenmes b. QL&geyL v
C. enwwedet 2 enm d. enalLme
The Part of the Neuron which receives messages
from other neurons is
a. Axon b. Dendritev’
c. Myelin Sheath d. Cyton
SWHMBHIEHHBTR  Benenidh s  CFTHeneareniLl
9 (HEUTHEWLIIT WITT
a. Gleuderdeoi
b. WGy wmmib e
c. Dr. umgumr
d. IBwrBuUTed® GuedeITSY
Children’s Apperception Test was developed by
whom?
a. Weschler b. Murray and Morgan
c. Dr. Bhatia d. Dr. Leopold Bellakv’
Qomf eTeleuT® SiewL W QBB 2 eIyliul L g,
yfbgl QsmeTenlLl L g, o BUSHSHUITETH TG
upplw gL ul afl en e 6T 601

22.

23.
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IS BHEVTLD.
a. o en@preHE GmPuiwsd
b. @eduilwied

C. Qumgd mswsiuGsHsedv

d.  GarBeummHelwed

The study of how language is acquired, perceived,
comprehended and produced is called as

a. Psycholinguistics

b. Phonology
c. Language acquisitionv’
d. Semantics
QUTHSHBHIS.
a. eileuT” Heir Gymbd - 1. @ewgGamdl 21
b. Literm HAen Gymb - 2. XYY
C. Loyenm St Gymd - 3. gewyBamsl 18
d. @fifleredad - 4. XO
a bc d
A 1 2314
B 3 41 2v
C 4 321
D 2 14 3

Match the following

a. Edward’s Syndrome - 1. Trisomy 21
b. Turner’s Syndrome - 2. XYY

c. Down’s Syndrome - 3. Trisomy 18

d. Criminalism -4. XO
a bc d

A 1 23 4

B 3 41 2v

C 4 321

D 2 14 3

DLTH  HIT6WI LI & &I 60T
BIVUBIBMET  61HSH  @(h  (PBHBBED  LOBHID  (LpeiT
SIDILIIGID HIGLEITSH HeiTer FNFULIBM [HLG6MSHUT 60T
allen6TTe)] 6TEIGVTLD.

a. &sBDeL

b. egliallemenr GaweouTGY

C. sEsBmeulBIGHFHD

d.  werGeupFd

is an involuntary behaviour that
occurs without prior learning and prior experience in
response to stimuli.
a. Learning

c. conditioning
Ans: B (May be)
® (1 LD 6or SL L 60LOLI L& 6T 6o ‘&0 Lem e
LIMTEneUWITENTS6T  LOBXID  ‘SHeful L &L BHHmSD
BapPiBdmLBul 6%H 2 _HImWITET  DIGOVSI
2_GWTIMLDILIEOTSHS eTaiHeme CoupiLibshs) il
Beowns Heemd, Ggl

a.  emwwFBleneouilpdsHe0

b. 2 erenewiiey

C. L& @(OMISGHENLDEY

d. se&iwoaliygsaomnY

b. Reflexv
d. emotion
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25.

26.

27.

28.

The inability to differentiate between the real the
ideal, characterized by two mental configurations,
‘imaginary audience’ and ‘personal fable’ is called

a. Decenter b. Intuitiveness

c. Mentaldispositions  d. Ego-Centrismv’

FnBDISH6N.

1. R.NA eetiug AGum pluidbeis ojdevid
aaiugrad. D.NA. aaiug 19opdend MG
Buwdells oifleod eI@SHTGLD

2. QupGmmTaselLIO(mbae FheHH®EndHE LOrL

FEBasghamen sL&H% R.N.A. euteig

D.N.A.-uyLeir giemen  Lifwailedeneo

&pp gem &f, smpy B SapY

aaBy Qrewi® i, DDl YW Seuy)

OB FBBIBEHD FHWITEIEn6

. Breni(h FBHDISEHD  SHeUBTETEN6)

Statement:

1. R.N.A. Stands for Ribo nucleic acid and D.N.A

Stands for De-oxy Ribo nucleic acid

2. R.N.A. does not act as an assistant to D.N.A.

for carrying out the genetic code from parents to

cooow

offsprings.

a. Statement (1) is correct and statement (2)
is wrongv’

b. Statement (2) is correct and statement (1) is
worng

c. Both statements are correct

d. Both statements are wrong.

Ans: A (May be)

QDL BB HMFHH G EeMer  auenTFS emul
S BUUGSHHID eueniT&s ammT@omener Syeh@HD Sl
a. o fered &g b. wrLf agudvy’
C. eowaymuiB &yrnd d. ewswed &yrnd
Growth Hormone which controls the development
of bone and tissue is secreted by the:

a. Adrenal Gland b. Pituitary Glandv’
c. Thyroid Gland d. Thymus Gland
SIPYFTT GUMTULLD 6THIB QFT6LMEY 6ULDMISILIGUT
a. E.C. Lredwearv b. L.M. QLinoeir
c. GW. QuLimoesr d. S.M. Lirei

The word ‘Cognitive map’ was put forth by:

a. E.C. Tolmanv’ b. L.M. Terman
c. GW. Terman d. S.M. Turner
Flemmlierd auAUITS B  HITRIL 6UHE6NT  HL GG
2 gab Beudllummel

a. Gasmemevest e16rdLGyerd

b. o Meredest

C. SFlLemLed GBamemevarv

d. Gasremeves

The chemical that causes transmission of nerve
impulses across synapse is
a. Cholin esterase b. Adrenaline
c. Acetyl cholinev’ d. Choline

29.

30.

31.

32.
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34.

35.
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BTD  (PHeJ6L 6I60FH mBUTETTEL  SHHMISH6IHTERIL
@ 2 L edwusass QFweour® e G & ensuiemmed
UPGIDCUTEI S@D SHEULILDTS G (HLUILIGI:

a. GpTwens LWiBd IBHBL

b. edmoenp LuIBd wrBBLD

C. @6l SMB6eL LOTHBHLD

d. @nafés sHBped wrHpnY

If we learn a motor activity with the right hand it
becomes easier on that account to learn that activity
using the left hand. This is known as:

a. Positive transfer  b. Negative transfer

c. Zero transfer d. Bilateral transferv’
Bamberdd, @WhnHHeT LIBLILIG0GW menesulommm
Beovd sem P D &5 B Wl ujLo Elulay
FLLflLuul Getengl ety pUemT, ks
2 aTenmihd GIY 61606 U -
GTGIIBENLDS SHIT.

a. QamB FHpesel

b. guehs Gmf eupdHGse

c. Gumduilwe Fperv

d. Gurf eewslLbGHH0 FTSHID

Chomsky believed that the child is programmed at
birth with the capacity to master transformational
grammar and calls this innate language capacity as

a. Verbal Skills

b. Language Universals

c. Linguistic Competencev’
d. Language Acquisition Device
Ans: C (May be)

SIOD
6UGVGIGHT GJEUT GUTEITEN, TS GTETENID LITL 60 Silg &L LD
QuBB  HIT6L:
a. wenfGwsemev b. sEET@MIMm®
C. usBTE@THY d.  Feusdlpgmoen
Ref: NR IAS ACADEMY’s 8th Tamil Pg.122
RWHG GBul L WwalsTHel, LpemeauseT GFibg
aUBLCUTEH aTensd Calihal 61(WHISGBmb?
a. oW b. e
C. o d 2 wv
‘olB’ et alenenuiguie SBhBHETVSH HeOTeniD
RUHEML  elenenpByl 6157

a. el mer b. &l Leur

c. afliLBLeaiv d.  alBGauer
‘aueT@pauenarl QuBBaHTed QuUBBEs LS
maUUIBBID’  6T6vTl  LImQUIGUT WI(T?

a.  SleIeneUWITT b. agan

C. umygwirr d. urgglsrae v

Ref: NR IAS ACADEMY’s 10th Tamil Book
Pg.8

allengey, SIFFH, GCeaugelfl, wAWEFH (WHedw

QuUT(hHeTTHaTEL AU
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a. @roLsdael b SGEGSHABTLIY
C. BIMRGHHH60 d.  eIuuFeaTed

Ref: NR IAS ACADEMY’s 10th Tamil, Pg.81
FBF GFTeLemeLd HeTBLIGSHSD.

a o geaTemY b. o awGeu

C. eleiteor d. ger

Ref: NR IAS ACADEMY’s 6th Tamil, Pg.84

Qb OaTLMeL Wi, 6%, 6Temel, WITeUT 6T6TanID
aflleammasseEnsd@ oflemLwnms au@mld 6FTe0B60

oW
a. QewiuEeurmer b, Lwelemev
C. erqpeurulv’ d. Geuielener

Ref: NR IAS ACADEMY’s 5th Tamil, Pg.61
HmEGmelled aThHemen BUIedH6T 2 6iTermenn?

a. 3 b. 9v

c. 4 d. 6

Ref: NR IAS ACADEMY’s 10th Book, Pg.8
wwed “GleveiTenst GleuGemOyer” B bHboHl. B avieiern
O FOFTEL 6TaIMBMF SFTTHHHI?

a. Gpfenewr b. e&feneur

c. Qoglullenenv d. Qgrfleneur

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.21
uNAHDOTH HmeVEHT ‘@ Wit HelF CFDGIMI’ senid
s Boormw 6bhs D60 GeueiullLmT?

a. (eprerurde b. Gepalpv

C. enfld6sTiy d. eawssl

Ref: NR IAS ACADEMY’s 10th Tamil Pg.21
alemenw&ss Gameoemevd Ogfley Gauis.

a. BLBH GFedv b. pLBS 6w

C. pLEPOB STewern 0. LTS GHHewy
usoauems o Wlitsefler uflewrmo  euen&dlenw
alfloursd gmpid Bevdd WD 61517

a. glmaurgsd Y b. Gseunyid

C. HHWHHID d.  Quiwnyremid

Ref: NR IAS ACADEMY’s 10th Tamil Pg.160
il gasr (pedt Meu Gasmeldl L et -B&H0HTLfle0
QT 6TEILIG]

a. Q@epme QuTHF GQaFmedLY

b. @wm Qum@m’ ueGTH

C. olamF Ogmed

d.  eeeuwr

Ref: NR IAS ACADEMY’s 10th Tamil Pg.79
uMNFOTB  HMEVEHITE  “‘UFMBOL  MB6EUH S
GUGVGVTGIIT”  6T6BTM LML L LI L 6uiT

a. oewiLureni G

b. simws Breueiv’

c. gml. GegilileTenern

d. @Gl eI

Ref: NR IAS ACADEMY’s 8th Tamil Pg.9
BITeL&E6T SalSHH60 el CouewiBd - Diens
Brresdgd sWpl udAud sl Cauewi(BLD 6T6TenID
uTL 60 eufldemen er(pgWieT:

a. Gel SymoeisigseniT

b. & sFdatambseary
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C. Hewilend 2 _60HBTHET

d.  smr urgs

Ref: NR IAS ACADEMY’s 8th Tamil Pg.24

Bm FHeoWBEHHGWD GUITHUTET (WewmLl  GLwIT

61g1?

a.  FTHHE b. &rgg)

C. BHHWS d. iéser

“O08 2 evdle (PHeOGIOTA, cp&HHETS” eT6sIm)

FamlwieuiT SLEUMIT.

a. Gzeu GpwWL uTeumewnTY’

b. o .Geou gmipTHUILIT

C. dmasmy GeusvestTiT

d. asdey Geuevenit

Ref: NR IAS ACADEMY’s 5th Tamil Pg.12

Lesteau(pld GHTLTH6M6d ausvel6d WG L HmdHsh

Cahal 611955

a. erpeunuigdh G

b. elwrBsrer almarpBems DBHS

C. 9iF, gl emib FLHFOFTBHmeNT DIBHSI

d @s7 rpm eoloaasssdar HNearv

Ref: NR IAS ACADEMY’s 10th Tamil Pg.143

baieTed SBEme. @HOHTLI o 6wii g HId

SL&OILWLIT:

a. SHSITeUTE GLwiT

b. smwearg QuuwiY

C. Gameveun@ GULWIT

d. srefwrg GQuuir

Ref: NR IAS ACADEMY’s 9th Tamil Pg.46

STHST DeVHHEMID FnBID [BIT6V:

a.  ympulumme Gleuemsum LOTen60

b. smiens

C. Bz afllendswY

d. peiranmed

Ref: NR IAS ACADEMY’s 11th Tamil Pg.61

UBmeUEaT eueveng GUTHeSH ST  STIT6ewILD
AGD.

B e IOLI(HEHSHLD

2 auiemels GHlg

uGapleme wIBEL v

d. s1BseT Sifleusted

Ref: NR IAS ACADEMY’s 6th Tamil Pg.10

pier eubs HIOTURL yyelujd

BTV UbFH HHHIBM  CLPENLU|LD

BuomsTamid eaufladsT LD GUBB &evHSWILD.

a.  ufluried b. uldBmiiuga

C. ulgeriuremev d.  QUIBBITHBBIILL

Ref: NR IAS ACADEMY’s 10th Tamil Pg.130

SIOPBSHH60 eTIpLILILIL L © WFLonest (PHBESHTLTLD

eImIGe6ITengI?

a. HmalevedushanT ouewimer Gamuied

b. wmosveoyrd FBusd GCsruied

C. wgleny el Fuwibesr Gamaisd

d. sehateyi HmaeLwni Gsmalledv’

Ref: NR IAS ACADEMY’s 5th Tamil Pg.18

oo
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S0 aflemearwmeuemenIu|d QUi
CeTBOBTLmIs CHiTey OFUIs.

a. Goansenyd SHemTGL eor

b. QeaGpemer wumigsmury’

C. OaamSenoll UTTSHSTUIT
d. OQgemremerd HeBTGL 6T
yewrii & Aluflled eunGwmig
o uiT@Quwuiurs  BmbHHT60
Qamevev Gauemt(BLD.

a. o ulit s b. Quui gV

C. e uiit Quui wgHed d.  Guuiuis

Ref: NR IAS ACADEMY’s 8th Tamil Pg.146
‘M IgulenssHed’ ees ogLdh OHTL e QUM mel
eT6d16017

a. oeursl Buaiged

b. GuarglmdhmHed

c. WedHursl Busizpedv

d  omGan® Guamed

Ref: NR IAS ACADEMY’s 9th Tamil Pg.122
‘pmIdled’ eTeleUMBE HBULUSMBF FMTHBHH!I?

a. b b. yev

C. Qagg d. Qa&mg

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.66
SSHHTEID ATeTOILIBEH6T CUTHHBTH 6.
a. Garm o ewr b. wpb e

c. Gameob Gur®Y d. & apl B

Ref: NR IAS ACADEMY'’s 7th Tamil Pg.49

BB BT BB SliaSHmpsH CHTHUSHTD BHTegid

6ULh Hl6IT6I

TS B
oTQU &

P S60

QIOEENEEDIS
a. &, m b. &
C. L, ewr d. & &Y

Ref: NR IAS ACADEMY'’s 9th Tamil Pg.21

WFHeI(H Frapelar (PHOeVWHEHI DITONTHSH BIBH

BrewiLmd qdWHH @IBlars CSTGLUS
eTeuTLILI(BLD.

a. Q@emen agemsY b Qumpliy eagme

C. B2 CIHMD d aseow agms

Ref: NR IAS ACADEMY’s 9th Tamil Pg.216

ENGLISH

Bring out the figure of speech used in the given lines:
“Then, what gems would we see? Perhaps a beautiful
heart”

A) Hyperbole B) Metaphor v/

C) Antithesis D) Oxymoron

The words ‘yours faithfully” are the .....................
of a letter

A) Head B) Salutation

C) Superscription D) Subscription v/
Ref: NR IAS ACADEMY’s 6th-10th Material -
Vol-2 Pg.15

Pick out the ‘palindrome” word

A) Malayalam v/ B) Precious

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

GET IT ON
Google Play

C) WVictim D) Telugu

Use an appropriate word to fill in the blank
Grievances cannot be redressed.................. they are
known

A) as B) because

C) that D) unless v

Ref: NR IAS ACADEMY’s 6 to 10 English
Extra Material Volume-1, Page no. 62
Identify the correct dictionary sequence

A) ornamental B) originate

C) original D) ornithology
A) ab,cd B) dbac

C) b,cad D) c,b,ad v

The words ‘stationary’ and ‘stationery” are called
A) Synonyms B) Antonyms

C) Hornonyms D) Homophonesv’
Identify the sentence according to its king:

“This lesson is interesting’

A) statementv’ B) interrogative

C) exclamatory D) imperative

Frame a question for the following sentence

There are fifteen players in the team.

A) Flow much players are there in the team?

B) How long players are there in the team?

C) How many players are there in the team?v’
D) How far players are there i n the team?

Find out the sentence with the appropriate collective
noun.

A) The farmer has a pack of cows

B) They saw a school of lions

C) A flock of birds flew in the skyv’

D) A herd of fish swam in the tank

Ref: NR IAS ACADEMY’s 6-10th Material 2 -
Pg2

Ref: NR IAS ACADEMY’s 6-10th Material 1 -
Pg85

Trees give fruits to us year after year.

Choose the correct sentence pattern.

A) SVIODOA B) SVDOIOAVY

C) SVOCA D) ASVDOIO
‘Sombre’, ‘melancholy’, “‘grieving’, ‘mourn’ - These
words describe the feeling of ................

A) sadnessv’ B) panic

C) delight D) worry

Ref: NR IAS ACADEMY’s 6 to 10 English
extra materails Volume 1 page no. 84

This book is your book

The underlined word can be replaced by

A) yoursv’ B) yours’

C) your book D) your’s book
Complete the following sentence with the correct
form of adjective

Mala is.........ccvennnee. than Kannan

A) youngerv’ B) young
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74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

C) old D) youngest

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no. 74

A horse............e....

A) grunts B) squeaks

C) neighsv D) croaks

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no. 2
Who is a ‘Jaywalker’?

A) A pedeatrian who walks slowly

B) A pedestrian who ignores
regulationsv’

C) A pedestrian who walks fast

D) A pedestrian who obeys traffic regulations.
Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no.79

Which one of the following words is similar in
meaning to KINDLED
A) ugly

C) awakenedv

Latha started the quarrel
Here the underlined verb is

A) transitivev’

B) intransitive

C) both intransitive and transitive

D) none of the above

Identify the plural which is not apophonic

A) feet B) geese

C) fishv D) men

If “‘ox’ changes an ‘oxen’ then how does the word
‘staff’ change?

traffic

B) Awicward
D) untidy

A) staffs B) staffes

C) staves D) staffv’

Which one of the following words is wrongly spelt?
A) giggled B) evasivlyv

C) disperse D) dolted

I Was.......cooeenen. when | was hit on my head.

A) jubilant B) felt

C) scared D) stunnedv’

I am your teacher..............
Fill in the blank with correct question tag.

A) amn’t1? B) am I?

C) aren’t 1?V D) won’t I?

What is another name for the ‘study of languages’?
A) philologyv’ B) petrology

C) phytology D) philosophy

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no. 17

In a debate the words ‘At the outset............ " is used
for

A) introducing the topicv’

B) Givingexamples

C) Giving reasons

D) Summingup

85.

86.

87.

88.

89.

90.

91

92.

GET IT ON
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Asoka was a wise king

In this sentence Asoka iS a ................ noun, and
Kingisa ......ccoee. noun

A) Common and proper

B) Proper and commonv’

C) Proper and collective

D) Common and Abstract

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no. 60

How many syllables are there in the word
‘competition’?

A) Three B) Four v

C) Five D) Two

If it had rained well, the farmers.............coouue...
happy

Choose the correct clause.

A) will have been

B) would be

C) would have been v/

D) would not be

Writing “Well - boiled icicle” instead of ‘well - oiled
bicycle’ is an example of”

A) Malapropism B) Spoonerism v’

C) Euphemism D) Archaism

Ref: NR IAS ACADEMY’s 6th - 10th Material

2, Pg.17

Fill in the blank with the suitable Homophone
Neem Leaves are used t0 ...........cocvvvenneen. skin
diseases

A) hale B) heel

C) heal v D) hail

According to the place and manner of articulation
the underlined consonant sound in the word gas falls
under:

A) nasal B) lateral

C) plosive D) fricative v’

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no.19

MATHS

eTew1 59532-601 Uiy AL HhSSHSHIH MBI GHmymu
(107 )1 [

a) 59000 b) 59500

c) 60000 Vv d) 59600

The number of 59532 rounded off to the nearest
thousand is

a) 59000 b) 59500

c) 60000 Vv d) 59600

18, 12, 51, 32, 106, 92, 58 erasip  efleunmicserler
L Hlenev L

a) 106 b) 51 v

c) 92 d) 42

The median of 18, 12, 51, 32, 106, 92, 58 is
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93.

94.

95.

96.

a) 106 b) 51 v
c) 92 d) 42

3
@b FHTeugld 1 wewll CrygHdle0 g G&F.15. o Wb

1
QUETTEBEHI  6Teal60 25 BT &HEHHG LIBE

DIHBTAUTHHET & _UITID oo

6
a) E@&.Lﬁ b) 30 Q.8
c) 35 Qg d) 36 Qa5 v

3
If a plant grows 5 cm in an hour, then its height
1 :

after 25 days is

o b) 30
a) 10 cm ) cm
c) 35cm d) 36 cm v

BIeiGH CuT QEBTWIL (h GH(peleT FITai aUHLOTEILD
3610.25. preoveufled @meui  @Gualed®mn s
alevdwiller, agram  eumTad 650.75 eailev,
aflevdlul BLIMGT 6M(HLDTEITLD

a) T488.25 b) %488.75 Vv

c) 479.75 d) 489.25

The average monthly income of a four member group
is ¥610.25. When one member leaves this group,
the average income becomes I650.75. The salary
of the member who left the group is

a) <488.25 b) %488.75 v
c) 479.75 d) 489.25

o , \/0.036><0.72><0.049 B
ANLE SR A0 044 0.09%0.08
a) 2.7 b) 27
c) 3.1 d) 21 v
Fird the value of \/0.036><0.72><0.049_
NG the Valle Of \ " 0.04x0.09x0.08
a) 2.7 b) 27
c) 3.1 d) 21 v

B eremidemen WHELIH GuT.eu. 2 WB@ID WBFSWI
Qum. 28 6T6i®. @(H 6lewl 4 6Ty  LoBOBT(H
616001 6T60T60T?

a) 20 b) 16

c) 18 d) 14 v

The H.C.F and L.C.M of two numbers are 2 and
28, respectively. If one number is 4, then find the
other number.

a) 20 b) 16

GET IT ON
Google Play

c) 18 d) 14 v
2
97. 2-60 e1GHHEmE0 E—&;Gﬁ o _sitermenr?
a) 5 b) 2
c) 3 vV d 6

2
How many § ‘s are there in 2?

a) 5 b) 2
c) 3 VvV d 6

98. @y GCamliger Wamer Breni® DG H Hl6T 6T
GamemimiseT 4X BmID 3X+5 e1afled X-631 HienLih

BITCWT .
a) 30° b) 35°
c) 25° v d) 20°

Two linear adjacent angles on a line are 4x and
3x+5. Find the value of x.

a) 30° b) 35°
c) 25°V d) 20°
99. @ HCeurdymied e1HHMmeN WeLeIHITD © 6itemen?
a) 10°v b) 10°
c) 10° d) 10¢
How many milligrams are there in a kilogram?
a) 106V b) 10°
c) 103 d) 10

100.@m sy alfiinler Berid, @b SMBUlET HerhHmd

1 1
alL 27 15 @ope). oy eufllier memd 3 1S

2 4
oTeoNe0 DIMBUTGHT [HETMD ..oceeecees
a) 518 b) 575 5 v
C) 550 18 d) 6 18

1
The length of a carpet is 2 5 m less than the

length of the room. If the length of the carpet is

1
3Z m, then the length of the room is
a) 5m b) 5.75 m v’
c) 5.50m d 6m

101. siemyaul’ L angalevrer miGTaleT Qb 21 1. 6
BLLpEbE I5 als 5B& FBBIGM DimndD
GID COF6VE ..eoevvevenenen.

a) <1040 b) T840
c) %540 V d) 640
A park is in the shape of a semi circle with radius
21m. Then the cost of fencing it at the rate 5 per

metre is
a) <1040 b) %840
c) %540 V d) 640

102.@m &t 25 el Li QuiGyredsd, 150 &.iS. Hmyid
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GFeveuid etetiBTeD, 30 69 LT QUL Gymedsd GlEFsLeVID

QBHTENEIRY .ecevrvrerreenes
a) 160 km b) 190 km
c) 180 km v d) 200 km

If a car can go 150 km with 25 litres of petrol, then
the distance that can be travelled with 30 litres of

petrol is
a) 160 km b) 190 km
c) 180 km v d) 200 km

103. @@ pUT SHERILLD 2 _6iTen Lienidalsd cLpeimsled @b

UBendd O@Temi(h @b CUTHeneT  aUTRIGHS BT,
SIGuUTHefer aleneo I100 erefled, Ul OHHS
QT  LIewILD:

a) <1000 b) ¥ 300 v

c) I 3000 d) ¥ 100

To buy a product, a person spends one third of his
money. If he bought the product for ¥100, then the
original amount of money he had is :

a) <1000 b) ¥ 300 v

c) I 3000 d) ¥ 100

104. @ Gzmemevsastdl QUi 8% wa&Hlys gl B

aufl Gaida Siper alenev I 15,660. WHLILH
LB oufl Qe SiFHeT ailens erebreor?

a) T 14,500 v b) ¥ 14,000

c) T 14,670 d) ¥ 15,000

Cost of a T.V. set including VAT at 8% is X
15,660. Find the price before including VAT

a) T 14,500 v b) ¥ 14,000

c) T 14,670 d) ¥ 15,000
105.30-8@1b, 60-HGHID Benl_Uled 2 66l LIST 6160156168

6T GUBT GO0 b 61 &b :

a) 8 b) 5

c) 6 d 7 v

The number of prime numbers that lie in between
30 and 60.

a) 8 b) 5
c) 6 d 7 v
106. 86w OQaT@sHsIULBeTemauBpiled SN L g
a) o _(mewen b) Gasmemd
c) awLp v d) anibyy
The odd one in the following is
a) Cylinder b) Sphere
c) Circle d) Cone
107.2_ L Gameawmseafllar gmBHeo 360° Gamew L
L6V HIT6mILD
a) mrpay v b) wsGsmewid
C) mEIBsTewID d) ommGsTewID

A polygon, the sum of whose interior angles is
equal to 360° is called:

a) quadrilateral v/ b) triangle

C) pentagon d) hexagon

108. syfevds sl GQuiiw eemenIBEGW, SLflevss

WssF dAfw eeenliBed SemLBuw o siten
alHHwIregd

GET IT ON
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a) 8,99,998 b) 9,89,999
C) 8,99,999 Vv d) 1,00,999
The difference between the greatest six digit number
and the smallest six digit number is
a) 8,99,998 b) 9,89,999
c) 8,99,999 Vv d) 1,00,999

109. @ au@liigvieiren 10 wremiauidseien gyrafl o wiyib
166 Q&F.15. ete0ids SHEWISALLLULL FHl. HBHEUGODHENEIF
Fllumie@wuUTal @b I 150 CF.15. aaLSBE
udeurs 160 GF.15 e1er Houprsd GMBILLILLILILL i
e10TLIGl BeWTBLIQSSLILIL L FI. elelled Filuwimer gymal
9 WD HITEIS.
a) 175Gg.8 b) 185 Q.8
c) 165 Qg8 v d) 155 Q&.8
The average height of 10 students in a class was
calculated as 166 cm. On verification it was found
that one reading was wrongly recorded as 160 cm
instead of 150 cm. Then the correct mean height

is:
a) 175cm b) 185cm
c) 165cm v d) 155cm

110.9m wWalaaiguilar aflemed I1500 erel m
GPHGaIUL Beengl. BFemer I1350-5@ alBBTed
H6MEDHLIY FHATHLD 61601607
a) 15% b) 12%

c) 10% v d) 11%
A Bicycle marked at %1500 is sold for ¥1350. What
is the percentage of discount?

a) 15% b) 12%
c) 10% v d) 11%
50
1M1 — &1 12%
3
a) 3 b) 4
c) 2v d s
12% of a2l is
3 1S
a) 3 b) 4
c) 2v d s
112. 1085 Hfw LG eremr:
a) 1 b) 2
c) 4 v d 6
The smallest composite number is
a) 1 b) 2
c) 4 v d 6

113.9m Gu@mbdled wWsHed aumghdled ph.27,432-1D
BOrewiLTeugsl aUMIHH6e0 @h.16,758-D  aUGeoTH MBS
WHL UMTSHBHIL 6T QUILNBenSUTed ETeRTLTouS I
AUMIHHGT UG 61616166 (FHmBa]?
a) T 9,674 b) T 8,674
c) ¥ 10,674 Vv d) T 12,674
Inatown bus 27,432 was collected in the first week
and 16,758 was collected in the second week. By
how much was the collection amount less in the sec-
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ond week compared to the first week?
a) T 9,674

b) X 8,674

c) ¥ 10,674 vV

d T 12,674

114.GeuellF Gaelcussider ugliuerey 360 .15 o e

115.

116.

117.

118.

CFaleuass e ugliueme 280 &.15. Selaid
CFalauamBIsEdH G @AoLulled Frmer uTms
2 6iengl. UTenGHUTeT LITLILIeN6) 6T6oT60r?

a) 80 m v

b) 90 m?

c) 100 m?

d 70 m?

The area of outer rectangle is 360m2. The area of
inner rectangle is 280m2. The two rectangles have a
uniform pathyway between them. The area of the
pathyway is:

a) 80 m v

b) 90 m?

c) 100 m?

d 70 m?

b GUHMBHHG 200 10.60. ured afsd 40
GLHMHHeT GaTewiL au@GLiLled 660 60T
GWHMHBEHHGD CHenauwmer LTeSen Si6Te]
b) 111

c) 12l d) 8l v

If 200 ml of milk is required for a child, then the
quantity of milk required for a class containing 40
children is

a) 1ol b) 11l

c) 12l d) 8l v

9 QF.15 UbBD SleTaleTeN HOFHITHH6L 3 6F.15.
UbES SIeN6Y6iTeN  HIFHITEIH6T 615 5H6N60 !

a) o9 b) 54

c) 271 Vv d) 18

How many cubes of side 3 cm are in a cube of
side 9 cm?

a) 9 b) 54
c) 271V d) 18
20, 25, 21 ... , 14, 15 alleugsadBe wab
Bevemev eTafled lBLIL L 6T6mr:
a) 20 b) 25
c) 30 v d) 15

If the data 20, 25, 21, , 14, 15 has no mode,
then the missing number is:

a) 20 b) 25

c) 30 vV d) 15

(32+ 32 x (5% + 129)-a51 euidabelpeold =
a) 45 b) 55

c) 75 d) 65 v

The square root of (32 + 3%) x (5% + 12%) =
a) 45 b) 55

c) 75 d) 65 v

10

119.

GET IT ON
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100 L =

a) 1 &b

b) 01 & v
c) 0.01 &.if
d) 0.001 &8
100 metre =

a) lkm

b) 0.1 km v
¢) 0.01km

d) 0.001km

120.Bgyent alengey euewiy GFeiener OFe F6ded bl

121

122.

123.

22.10 wenid@l UBLUL G WwoIbTeT 2.50 ewildsE
BFovld QFSBOLHSHHI 6160160 6wy @loul GHILD
616016017

a) 6hrd40m

b) 4hr40mv

c) 3hrd40m

d) 7hr40m

Cheran Express Train departed from Chennai
central at 22.10 hrs and reached Salem at 2.50 hrs
the next day. Then the running time of the train is
what?

a) 6hrd40m

b) 4hr40mv

c) 3hrd40m

d) 7hr40m

Gpme gnflalluied /EVS

. SODBTL 1960 FL L Goevened @UISSLILILL  SL6wTH

A) 1983 B) 1984

C) 1985 D) 1986V

The upper house in Tamil Nadu was abolished in the
year:

A) 1983 B) 1984

C) 1985 D) 1986

NR IAS ACADEMY'’s Ref: 6th to 10th Civics
and Economics Pg.64

30 miidem @@ 15 eum. CFL eflendg Syeayb
useuId erfld GuTgl GFeLaITGID SLBMED
A) 3888>10°g70 B) 10.8 wellv

C) 38.88 X106 weur. D) 108 uyefi

The energy consumed by a 15 watt CFL lamp
switched on day and night for 30 days is equal to

A) 3888 >10°] B) 10.8 unitv’

C) 38.88 X106watt D) 108 unit

Filwrer elewLemuwld BabosHd

a) WlasGL GuTTaa AIDBIBWICIET Sl

b) euensHed uflg eupmBweuss Heoedur GHmLest
C) Gauawnguiaysb@ll Ufiawis CETBHHe60 GLBT
d) BCaTHE TTRWGMS AIPHRIAWIIGET alcals

A) a, b sflwreng B) b,c sflwnerg
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124.

C) b,d seupreig D) ac pauprerg v

Choose the correct option:

a) Aai gave a Shawl to protect a peacock from
exposure to cold.

b) Nalliya Kodan helped people who came to him
for help in the forest.

c) Pegan gave his horse to Iravalas.

d) Valvil Oari gave his Kingdom to the artists.

A) aand b correct B) b and c correct

C) banddwrong D) aand ¢ wrongv’

Ref: NR IAS ACADEMY’s Tamil Extra Notes,

Pg.39

urgarafl.  oenafll i9ed o ater  Lifleyserfler

6160316001 & 6 B

A) 32 B) 100
C) 180v D) 212
The number of divisions on the Fahrenheit Scale are:
A) 32 B) 100
C) 180v D) 212

Ref: NR IAS ACADEMY'’s 6th-10th Science
Extra Material Pg.12

125. ettou(mid  eugeOTBmI  MBIDeyBemaT  Fluimer  HiTev

126.

auflenaliLlg  &HewiL .

a) Ggemfl Ggenym Fbueuld

b) #L wmry Sussd

C) GQeustemenwiBer QeuelGup Buibsid

d) dlumds sevsld

A)a b c d

B)d a b ¢

C)c d b a

D) b d a ¢

Identify the correct chronological order in which the
following historical events occurred?

A) Chauri Chaura Incident

B) Civil Disobedience Movement

C) Quit India Movement

D) Sepoy Mutiny

A)a b c d

B)d a b ¢

C)c d b a

D) b d a ¢

@B slwrallal o FFpFHWAIB [bSHILUDIH6M6T
Buwillue...........

A) s1I0I.  SIMDEFFTHEI

B) umymenwas o minlerraser

C) dgzw whHf

D) suwurssd Smeveuliv’

In India, Supreme Court Judges are appointed by
the

A) Cabinet Ministers B) Members of
Parliament

C) Prime Minister D) Presidentv’

Ref: NR IAS ACADEMY s Civics and Economics
Pg.58

11
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127.grggwisum o milifenTesemet  LgGaldameuld

A) 5 au@pLBIB6IT B) 6 eumLms6TY

C) 7 eoumLrimeit D) 8 eugpLmisel

The members of the Rajya Sabha are elected for a
term of:

A) 5 Years B) 6 Yearsv

C) 7 Years D) 8 Years

Ref: NR IAS ACADEMY’s Civics and
Economics Pg.55

128. QFehFAullesr  opiGLIWIT SLGLD.
ad.  QENIEIBTUTSH b. QgemesTurs
C. EMABSHITLTS d. urgegrurg v
The other name of Ginjee is
a. Aurangabad b. Daulathabad
c. Hyderabad d. Badushabadv’

Ref: NR IAS ACADEMY'’s 5th Social,

129. Gouemevsans CoHaibsell sIaiLeme:
a. @eu@mesd GaFuud HpepienL uwl GlLewT
b. SeniQu®mdsDd CFuiud HBEHB &6
C. @amiGumdsd Csuybd Hperms Cuewsv’
d. @eniQumEsd GFuiyd HpeEenl Ul e
Worker bees are:
a. Fertile Females
b. Sterile Males
c. Sterile Femalesv’
d. Fertile Males
Ref: NR IAS ACADEMY'’s 6th -10th Science
Extra Points, Pg.34

130. @b guiitaemen (peiremiailiL] @6 eag Gauiweayd
aflgmyememufllear @l lewpuflled ML & S Ld
SRIBCOWHEEG HHFTID CEThHSH FULID 6157
A) QURIGUL™B FLLLD
B) Qpemeor. &L LIbHY
C) ®pdu ops LD
D) al&@umflwum wamgreniulesr oipfibams
The Act which empowered the British to arrest
anyone without warrant and trial was?
A) Regulating Act
B) Rowlatt Actv’
C) Government of India Act
D) Queen Victoria’s Proclamation
Ref: NR IAS ACADEMY’s 6th -10th History,
Pg.122

131.@ps &rUl  Bremom®  BBILD  BIEMD 2 e
sridwns  QFweoLIBGH MBS

A) A B) ensymui®

C) s fered D) &eveSyed

This gland is exocrine and endocrine in function:
A) Pituitary B) Thyroid

C) Adrenal D) Pancreas v

Ref: NR IAS ACADEMY’s 10th Science Pg.45
SUIP060 aflewL: Smemid 6&@IQ b (HHS
GouamtBLD.

132. 919 CGaurmom et U BIGHEIW UTH& G W


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A) mieovguiyed B) &®ms6saiby

C) memmpt pgsgsear D) o Mered v’
Adenoma is a type of cancer that affects the
A) Lungs B) Cartilage

C) Lymph Nodes D) Adrenalv’

Ref: NR IAS ACADEMY'’s 8th Science Pg.29

133. OpevasL (B BFeued LGS enaLILBBuleuT wW?

A) siteed amymest B) &itaed @GaibliGLIGOY
C) simedenn musdgest D) yeddhBpHeut
Nerkattum Seval was captured by whom?

A) Col. Horon B) Col. Campbellv’
C) Colin Jackson D) Puli Thevar

Ref: NR IAS ACADEMY’s 12th History Pg.50

134. Qur (S SI5.

a. 9Bwmgesr + DewT6L .  Uetenid STUIEFS

6119 5,560

b. wewiGememienem + BT 0.  &TIFS eugHHe0
C. SLeLFHABTEL + BT . UBEIBIOTHED
d. Querdgesr + GLmaueier V. 1flens Lemed

a b c d
A (iv) (i) (i) ()
B (i) (iv) (i) (i)
C (iv) (i) (@) (i)
D (iii) (iv) (i) ()
Match the following
a. lodine + Sand I.  fractional distillation
b. Kerosene + Water ii. distillation
c. Alcohol + Water  iii. Sublimation
d. Benzene + Toluene iv. separating funnel

a b ¢ d
A (iv) (i) (i) ()
B (i) (iv) (i) (i)
C (iv) (i) (@) (i)
D (iii) (iv) (i) (i)v
Ref: NR IAS ACADEMY’s Chemistry

Volumel, Pg.68

135. 563510 SewIGLIgSEBLILL L HTeUD 6157

A) ydu spasrewY B) umpw sBsreold
C) ®&mbys smeold D) Q&b smeud
Invention of wheel took place in which of the
following Ages:

A) New stone agev’ B) Old stone age

C) Iron age D) Copper age

NR IAS ACADEMY’s Ref: 6th History Pg.2

136. s15@aromerdliwim  &IGEH6ed GLIHLD6ETR|  STewTILIBLD

GUTUL|E S 6TTITEL 6T

a. oWBLIM&T BB LEHene6s

b. ewpLymer wBmId anfeduid

C. eWADBL 6 WHBHBILD MBLJEQ60

d. maplymer wH@md afedluwby’

The gases mainly found in the exosphere layer are:
a. Nitrogen and Oxygen
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b. Nitrogen and Helium

¢. Hydrogen and Nitrogen

d. Hydrogen and Heliumv’

Ref: NR IAS ACADEMY’s Geography Pg.21

137. urefwinesT  WTHLW  STevsHHed  BhHwnaiBg

eUbHSTT?

A) wpseomd FHAT GLST

B) @yewiLmd sHay GUBTY

C) wazombd FwdHdy GUST

D) @rewiLmbd swHPy SLST

Fa-hien visited India during the period of:
A) Chandra Gupta |

B) Chandra Gupta 11V’

C) Samudra Gupta I

D) Samudra Gupta Il

Ref: NR IAS ACADEMY’s 6th History Pg.20

138.@xmeaimer  @Gflwemers amp)l  Suim@GBurgl,

139.

140.

BamEpds@b GfwuamsbEd SenlUulL  FTUued
allengullesr HesTenid

A) Plevev Wenailuied aleng

B) ewwow Gprég aflemsy

C) amps alens

D) ewwow elevd@ alans

When a planet revolves around the Sun, the
gravitational force of attraction between them
provides:

A) Electro Static Force

B) Centripetal Forcev’

C) Magnetic Force

D) Centrifugal Force

NR IAS ACADEMY'’s Science Extra Points

Pg.16

Beweouien euflwing meny BImalwns GeuefGuiBmID
e T0%: 2

A) gound s s B) gymeiendLBragerv’

C) qeal&Gaisbmas D) &GwrLrddlernd

The process by which a plant loses water through
its leaves is called
A) Respiration

C) Photosynthesis

B) Transpirationv’
D) Chemotaxis

Ref: NR IAS ACADEMY’s Last Class
Revision

auraiallfl UemsUULB SmTL LWITUGS S
QUMTWILILIBAUDAL. ..............

A) QaRIGHSI UL HIGET

B) araiau euenyuLmi&eTY

C) BuBms euETLILHIGET

D) epdlued euenyuL mimbeit

Maps created by using aerial photographs are called
__ maps.

A) Orthophoto

C) Physical

B) Aerial photov’
D) Political

141.1950-8u1> Semi(h 2 _FFHAHEBSHH0 QH SHENGVEMLD

pHUS o UL easHHmen bIHuplser GL LD


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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142.

143.

144.

145.

CUBlBHSeT?

a. 8 pgudsarv b. 16 pHugdser

C. 24 pdudmer d. 26 pHuLHsei

In 1950, our Supreme Court consisted of how many

judges including the Chief Justice?

a. 8 Judgesv b. 16 Judges

c. 24 Judges d. 26 Judges

Ref: NR IAS ACADEMY’s Civis and

Economics Pg.57

slweard @ o ufllgreien  HTeugm & erflg)id

aleovmigdeield o 6itern Hefomidseer Filwimer eml

aufleng

A) smeodlwb > pLIRET > mABLIRST <
sriual < SiefmarY

B) waml ymer < smeodluib< sriuer < sy dbdlee
< eBLJE6T

C) amuei< epsHma< sre0Aub< bl Feer<

MV [T 60T

D) bl Ima< enaml Fmer < &miueT < smeodluib
< obhFmer

The correct increasing order of elements in all the

living things, both plants and animals is:

A) Calcium < Nitrogen < Hydrogen < Carbon

< Oxygenv’

B) Hydrogen < Calcium < Carbon < Oxygen <

Nitrogen

C) Carbon < Oxgen < Calcium < Nitrogen <

Hydrogen

D) Nitrogen < Hydrogen < Carbon < Calcium <

Oxygen

Ref: NR IAS ACADEMY’s 8th Science Pg.125

@ Gummeiler Hevm 2 KJ oBupIb SIS (LPIHSLD

3 M/s?, eiadled DIHET AIDS...............

A) 6 NV B) 12N

C) 18N D) 36N

If the mass of the body is 2 kg and the acceleration

is 3 m/s? then the force is:

A) 6 NV B) 12N

C) 18N D) 36N

Ref: NR IAS ACADEMY’s 10th Science

Pg.229

25°C Geutiupleneoulsd SHenjgmennesr egmieuflens

A) NaBr < NaCl < Nal

B) NaCl < NaBr< Nalv’

C) NaCl < Nal, NaBr

D) NaBr < Nal < NaCl

At 25°C, the increasing order of solubility is:

A) NaBr < NaC1 < Nal

B) NaCl < NaBr< Nalv’

C) NaCl<Nal, NaBr

D) NaBr < Nal < NaCl

NR IAS ACADEMY’s Chemistry Volume 1

Pg.30

UBSGD SHBOMHHB LBENe! EBIOUTEID. .oneeeecerneen.
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A) rapY B) &af

C) uymm D) wymiOsnsd)
The bird which cannot fly is

A) Emuv B) Parrot

C) Pigeon D) Woodpecker

146. siewrewimbLd sevelesr Geuglll QLT
A) sredflwid mamL gThamen(
B) asmebdwib sydbma®
C) smeodlwib ge0BuL
D) smebdlwd smiuBer v’
The chemical name of lime stone is:
A) Calcium Hydroxide
B) Calcium Oxide
C) Calcium Sulphate
D) Calcium Carbonatev’
Ref: NR IAS ACADEMY’s Chemistry Volume
1, Pg.34
147. GouguniT &6uslD eTIGUTDSI HenL OILIMBBGI?
A) 9 srewev 1806 B) 10 gmeemev 1806V
C) 17 grewev 1806 D) 21 sgeemev 1806
When did the Vellore Mutiny take place?
A) 9" July, 1806 B) 10" July, 1806v
C) 17% July, 1806 D) 21+ July, 1806
Ref: NR IAS ACADEMY'’s 8th History Pg.103
148.piToems LBBIL HUFH ABSEHHSG BN
DIMLOHSIET6N LDen6Vd OIFHTLIT:

a. BSIuIbenev b. eyeuebed

c. albgw d. erguygmv’

The hill or range that lies between the Narmada and
Tapti river:

a. Himalayas b. Aravalli

c. Vindhya d. Satpurav’

Ref: NR IAS ACADEMY’s 10th Geography
Pg.131

149. usemnaFwSHH SHTEOILGL 2 BeUTHLD. ...cvvevreeeeee. LG ID
A) Fe B) CA
C) Co D) Mgv
The metal presentin chlorophyll is
A) Fe B) CA
C) Co D) Mgv

Ref: NR IAS ACADEMY’s Chemistry Volume
-1 Pg.22

150.6168 &m Benewt alleuT 6TVIDLE6T HHGWD allevr
GTQVIDLIB6T 6160 DIMIDSBLILIGHBSHI?

A) 7 opmib 8 B) 11 wmgd 12v
C) 9 wBmid 10 D) 5 uwpmib 6

Which two pairs of the ribs are called “Floating ribs’?
A) 7" and 8" B) 11" and 12"v

C) 9" and 10" D) 5" and 6™

Ref: NR IAS ACADEMY’s Biology Volume 2,
Pg.95
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